Name of the Trade - Additive Manufacturing Technician (3D Printing) - 1st Year - NSQF - Module - 1 - Safety, Basic Computer & Engineering Drawing

# Question Opt A Opt B Opt C Opt D Questions OptA OptB OptC OptD Ans | Level
1 |Combination of three things makes fire. Which are Fuel, light and Fuel, heat and Fuel, heat and Fuel, lightand |1 oSl T TAISTT & STl Soldl g| & el g2 | 53U, U1 IR | 39, a1t 3R 3T, AT AR | SuUeT, U IR | B 1
they? oxygen oxygen carbon dioxide nitrogen 3TerdIsteT 3TerdIsteT FeT SSIHFASS ATSeISteT
2 |What type of safety covers the wearing of safety General safety | Personal safety | Machine safety Occupational [T H fohH YR &I I&T H FI&T & 3[4 AT gI&Tl TFdITd L& | #AMA H &N | yrawrids gIEn | B 1
shoes in workshop? safety UgoTeTT ATTHT §?
3 |Which fire extinguisher used for flammable liquid Dry powder  |Halon extinguisher| CTC extinguisher | CTC extinguisher |[saelereiiel aiel 39T & o &g 3ifETemds v @1 913 grelel g3 1 | T g3 F1 | WS g1 F1 | A 1
fires? FT 3T fHar e 87 DE} D] RS
4 |What is first aid? It is the It is the intensive |Itis an immediate | Itisthe ruleto [aTafde RfEcar #ar g2 g UTdeplolled | I§ I8l [Aiehcdl | T§ T dcohled g 3UAN &I C 1
emergency medical treatment life saving assessing the RIfhcaT 39AR & 3UAR § SiiasT 38T 3TN | 3Theled el Sl
medical treatment treatment treatment g oA g
5 |Which of the following is not a cause for an Unawareness of Negligence Proper use of tools| Untidy condition |feT{alif@d # & @l AT UH GuceAl Hl HRUT el | TAX HI HATHAAT EISECIE ATIAT &1 3T FRITAST FHN C 1
accident? Danger of workplace  [&? 3T AR Tt
6 |What is the shape of warning sign? Circular Triangular Square Oblong AATAT Tohd T IHR FAT g7 qRaT Benrofg I TERR B 1
7 |Which of the following is comes under class A fire? Wood Flammable liquid Gas Metals fATAd & @ &l AT g9 A STl & 3d9rd CEE SaclTfel ool IRy a1q A 1
e g7
8 |Which of the following is not a computer hardware? RAM Motherboard Harddisk MS office fFaf@d & F Pl AT FYXR A AT 87 Ee Aclas ge B s THTg 3R D 1
9 |Which device is used to control the cursor Mouse Monitor Keyboard Printer FIX 3eTole] P AT el & oI [ 3TRIOT gl Afferex Fras rex A 1
movement? FT 3UAET fRar e 2
10 [Which of the following are components of Central Arithmetic logic | Arithmetic logic Control Unit, Arithmetic logic  [Hgel WA fAe (CPU) % Tesh o=iioigd & 37RO doh 37RO deh GEERIEEAE] 3RITIOT cTeh D 1
Processing Unit (CPU)? unit, Integrated unit, Mouse Monitor unit, Control unit |[& HiT T §?2 SHIS, THIFT SIS, AT Alferex saTs, =0T SHTS
Circuits gfke
11 |What is full form of GUI in terms of computers? Graphical user | Graphical unified | Graphical unified Graphical user |htgc % TeH H GUI &1 q;U’l & FT g2 Graphical user | Graphical unified | Graphical unified Graphical user D 1
Instrument Interface Instrument Interface Instrument Interface Instrument Interface
12 |Which type of software is an operating system? Utility Software | System Software Application Firmware Software 3R Tea v IR &1 At g2 EERNOGIH e AFeaIT | A9 IfhaT | HAGIR AlFedIX | B 1
Software AIFCAITR qrFd
13 |Which of the following is not an input unit? Touchpad Mouse Scanner Monitor fArAfaf@a 7 ¥ &I 39 gH1g el 82 Tads <@l ThelX Afferex D 1




14 [What is the name of long strip in a T-square? Head Stock Blade Edge SI-TFARR A el 9T &l T o1 g2 ™ P oIS REr
15 |what is the minimum angle draw with set squares? 15 degree 30 degree 45 degree 60 egree AT TFATH & 1Y wGIdH HIUT 3T FATAT AT 15 f3afr 30 2o 45 T3t 60 f3af
el 87
16 |Which tool is used for drawing irregular curves? Stencils Template T-square French curve |[31af@d ol &1 o & T F9 3907 &t e TFelT A-FhAR % dsh
39T fRaT STar 87
17 [What is the area of sheet indicated by A0? 1 metre square | 2 metre square | 3 metre square | 4 metre square |AQ GART 3T eNT F &FH fhdal g2 1 #Hrex gar 2 HeY gar 3 HeY e 4 FHeX I
18 [How many battens will be there for a Drawing 1 2 3 4 37397 dIS & [T Tohclel ST gIar? 1 2 3 4
board?
19 [According to the Indian Standard Institution (ISI), 420 x 297 841 x 594 1189 x 841 297 x 210 AR AlTd TTATA (ISI) & 3R, e H 420 x 297 841 x 594 1189 x 841 297 x 210
what is the size of the designation A3 in mm? USATH A3 & TR FAT §?
20 |What is the eccentricity of an ellipse? e>1 e<1 0 1 Teh GIeded T [qel&Torar T g7 e>1 e<1 0 1
21 |Which line type is used to draw visible edges? Continuous thick Dashed thick Chain thick Chain thin 79T ThaIRT HI Wi & [T BleT AT ASA €BT | STIMMAR AT @il IMGT AT U AT UeT TcToll
gaeT fRar Sirar 22 g
22 |Which conic section has only one focus and one Ellipse Circle Hyperbola Parabola e U WS H dHad Th Bed IR Th sforcm e RIGHEIES I
directrix? fgerT g7
23 |Which line type is used to draw projection line? Continuous thick | Continuous thin Chain thin line Dashed line  [9&I9oT @ drael & T Hid AT d13aT BT TANT | SRMAR AT ol3eT | @R Icdell @7 | A Tdell allseT e Y@
line line o Srar 87
24 [In which plane top view placed? Horizontal Plane | Vertical Plane Front Plane Profile Plane  |fohe Tolel & 19 o & @1 AT & 2 gifas woi FEANR Told e Tolel RSl [GHATT
25 |Which conic section is obtained by cutting a right parabola hyperbola ellipse Circle diel AT AP TS 37T 3HeT GaRT Ueh Hel INollhR R QEEETIC 37ETHR ed
circular cone by its axis? g HI HICHT e Blem 872
26 |Which of the following is a part of circle? Square Triangle Arc Ellipse fFfaf@d & F FlT Jed T T @A 87 gar EEE 3T 37ETHR
27 |What is the included angle of a regular hexagon? 45 degree 60 degree 90 degree 120 degree  |Ush AIATAT WS & 3cAeld HIOT FAT &2 45 330 60 T3t 90 T3 120 f2af




28 |Which of the following is a reducing scale? 1:2 1:1 2:1 31 fArATaf@d &7 § &l a1 T ATIeN-oTga]ol & 1:2 1:1 2:1 31
YA 87

29 [An object is above HP and infront of VP. The object First Second Third Fourth T aEg TN @ IW g IR AN & T g TuH i e B
is said to be in which quadrant? aEg & e agsenon 7 g2

30 |Which solid having six equal square faces? Tetrahedron Cube Octahedron Dodecahedron [T o9 & ©g A d9eR 5y 8ld 87 TG URd™ el 3MaeTegsT gaTgRAhelsh

31 |what is the angle between the three axes in 60 degree 120 degree 180 degree 270 degree  |3MSAIATCHh F&IIUT H cflel 3787 & &g I HIOT 60 f3af 120 f3aft 180 f3aft 270 f3afY
isometric projection? FT 87

32 |Which projection is shown in the fig? Orthographic Oblique Isometric Dimetric 3 & &l a1 weigor @ I/ g2 3IRATIMTheh 08T UaAcH sEATcH

33 |What is the included angle between the edges of a 30 degree 60 degree 90 degree 120 degree  [3TSHIATESH T&IqoT H Th FJ & ohaIRT o & 30 330 60 T3air 90 T3afr 120 T33f
cube in isometric projection? 37T HIUT FAT &2

34 [In an isometric drawing, lines that are not parallel to dimetric lines trimetric lines ~ [non-isometric lines| multiview lines  |Teh FATAIT I@TTT #, FATANT 38T & sEARRH WU AfAdT WU [SR-aAAdT W@i|  Accley, dsd
the isometric axes are called? AR o7 gleT drell I3 T Fgl ST 87

35 [Which are the two ways of drawing orthographic First angle, Second angle, | Firstangle, third | Second angle, [3T2fanfther Y&IIUT STSeT & & dAh Pid T 87 Tgoll I0T, GET | GERT HIOT, ATERT | IgelT ShI0T, AT | GERT hiT, T
projection? second angle third angle angle fourth angle HIoT HIoT HIoT HIoT

36 [In third angle projection, the object is supposed to First Second Third Fourth drEY HIOT & G&UT H, 9E] I fHE agAA A qUH Rl Jrexr rar
be in which quadrant? AAT JTT 8?2

37 |In isometric projection, circle is projected in which Circle semi-circle Arc Ellipse FHAHAAT T80T H, Ged 1 A IHR H Faiad e G T 3T 3R

shape?

EIRCI -




Name of the Trade - Additive Manufacturing Technician (3D Printing) - 1st Year - NSQF - Module - 2 - CAD Application

# Question Opt A Opt B Opt C Opt D Questions OptA OptB OptC OptD Ans | Level
1|What is the minimum allowable number of layers 1 2 3 4 Teh 3391 H Rl HT wgAdH TAh &A1 47 1 2 3 4 A 1
in a drawing? g7
2|Which of the following file extensions cannot open DWG DXF DWS DOT el & q il W BlgeT TFACA DWG DXF DWS DOT D 1
the AutoCAD? TS & sTgr @l Fehd! &7
3|what do the letters UCS stands for? Uniform Calculator |United CAD System| Universal CAD Universal UCS & oIT =i & 318X g7 Uniform Calculator United CAD Universal CAD Universal D 1
System Settings Coordinate System System System Settings Coordinate System
4|How many points do you need to define for the 1 2 3 4 T HATS & TIT MRl Tohclel T3 Y 1 2 3 4 B 1
rectangle command? IRATT A T ATl g2
5|How long will a line from 0,5 to 5,5 be? 5 10 15 20 0,58 5,5 d% a1 oIS hclell ofal ga? 5 10 15 20 A 1
6]Which command is used to retrieve accidentally Erase Oops Offset Wipeout I § §CIg I3 a3 &l gal: Yo lel & e 3% RlER T fAer o B 1
deleted objects? ToT [FE FHAE & 39IET FAT ST 8?2
7|What is the file extension for AutoCAD template? dwt dwg dxf dot 3TcIhs TFIelc & [oIT HISd G &7 g2 dwt dwg dxf dot A 1
8|Which command is used to enlarge or reduce the Rotate Scale Mirror Offset el I&] & HHR H el AT FHA FA & e Thol R 3TRAT B 1
size of an object? ToT FE FAE & 39IET FAT ST 8?2
9]|How many methods are there in AutoCAD to 5 6 7 8 3T §ell & [oIU 37cIhs § fhda dld 87 5 6 7 8 D 1
create Arc?
10[Which key is used to make the lines vertical or F6 F7 F8 F9 ST I FEATER AT &ifciol Fallel & (oIT foha F6 F7 F8 F9 C 1
horizontal? Foll &1 3T T JTdT 872
11{What is the short key to change isopalne? F3 F4 F5 F6 Isopalne & JGold & [T 2ACHT g2 F3 F4 F5 F6 C 1
12|What is design Center? Dropdown menu | Right click menu Dialog Palette fSos e &1 82 319 33 Hel Tse fFed Hel aG Yol D 1
13|What is the keyboard shortcut for saving AutoCAD Ctrl+A Ctrl+S Ctrl+D Ctrl+F 3TCIhS 3897 H Ud Fel & [T hIEIS LATChT Ctrl + A Ctrl+S Ctrl + D Ctrl + F B 1
drawing? FT §?
14{Which type of trim used to cut and extend? Power trim Trim away inside Corner Trim to closest [[F8 YR & *H FT @iest 3R [DEIRT qrex fea *H 3@ sa9rss P fTH g Fellq@ic | C 1
F T 3uaer fFar Srar &7
15|What is the maximum twisting angle that can be 180 degree 270 degree 360 degree Consistent with  [31fIa# cfafeeer #ror a1 § S &9 T & 180 f3aft 270 f33fr 360 T3t SAMATT & 3®4 | D 1
given in sweep tool? geometry fear S Fehdr g2
16|Which one of the following cant be used as a Planar surface Surface that Silhouette edges Axis STH WIER IWel & Hedl A foaAtaiad # BEIRE:G qdg Sl T ege [haRT [uEaee) C 1
reference for placing datum feature? appears an edge R T 39T 187 fhar ST g2 PR femrs & &




17(In a draft which option is used to apply draft to the All faces Inner faces Along tangent Outer face TH IFC H TIfAd B T colc & IFC Hl T he AR & B colc & Oy IR

faces tangent to the selected face? e A & AT fhe Aeed 1 3udier fohar
ST §?

18[By which command we can merge two solid Merge Combine Mirror Wrap T FATS ¥ & al o Al & T A A FHaTSeT [EESy aq
bodies into one? &er T §7

19|Which surface tool shall be used to fill gap in an Extend Filled surface : Radiate Ruled surface  [37q01 3T Hisel # A F A & folw L s g3 dds f3ue Fo ThE
incomplete imported model? T g 3YSOT &7 39AET HAT AT & 2

20[What is the file extension for solidworks part file? prt part dwg sldprt AifoEadd g BISd & [olT BIg TFacelel prt part dwg sldprt

FT 872

21|Which type of dimension used for standard and True type Projected type Standard type Aligned type [T 3R FEeH 3fdfaa g & fov fa T ¢I8Y AT ThR AT YhR WET ThR
custom orthogonal views? UhR & TH T 39T fhar SIrar g2

22|which command is used to convert line segments Splinedit Fit spline Convert to spline Spline fit oISl HIHC T TIASA H Feolel & o0 Tohay TqfeleTefse e TqfeleT Foidc ¢ Tolel TqfeleT fihe
into spline? FATS HT 3TN FAT ST 8?2

23|Which line does not highlights object snaps such Centreline Extension line Inferencing line Line UsUlse, [AsUIST S ifeside e 1 @iel Al Helolsd faeaiRd oset SHhigaT ogeT EIEG
as endpoint, midpoint? ST ESSC el Xl &7

24|Which one is not possible to offset? Fitspline Spline Line Arc T NFRAC THT IeT &7 fthe ggY EEl AMSoT 3R

25(Which command is used to move, scale, rotate an Move Rotate Copy Modify sketch QX T T G, Thel HA, GAE & folw Ha e Py A T
entire sketch? g FAS H 39AT fFar Sar g7

26]Which command is used to focus in on a portion Crop view Detail view Section view Broken view  [@leT T FHTS T UGN IS T2F & UTeh & d B FT 9T AEaR A @t @z 39 SioheT o
of a drawing view by hiding all but the defined TR &I Shigd FeT & fav fmar sirar &, feeT
area? gl aRenTia a7 & RBure?

27|what is the command to remove broken view of a Non break view Un-Break View Un broke Broken view  [3R@UT # g §U SGHH &l gelel & (olU HATS SleT S o 35l g 35 Sehet g
shaft in drawing ? FI7 §?

28[Which constraint will be added if a new part Concentric Coincident InPlane Offset gfe THTC ardraiur H Ueh a7 [g&@T ST Imer Fisfcdse< ZeACelol 3ThdCT
created in assembly environment? ST & A T A Srer SEr Sreei?

29|Which command is used to twist a feature in Dome Shape Deform Flex 3 FIA A fhe FreR Y Thaee i & fow 3 A o Forard
SolidWorks? T FAS F 39AeT fFar Sar g2

30[Which of the following is an advanced mate in Parallel Perpendicular Concentric Width IT@d & & Pl 3 Adel ASTR H Th FHATATR e FlAAIRS BIEE]
assembly modelling? 3edAd He 82

31{Which one of the following relief type is not Rectangular Obround Square Tear Hifosaed # faelaiad # 4 @i a1 ah 3TIATHR 3’133 ga [ARITY
supported in solidworks? JhR THATIT LT 87

32|Which command will divides the single face into Project curve Split line Composite curve Combine Pl TT HHATS Tehel TG P & AT af F 3+ ol doh Recere @r THT Toh KIEC

two or more than two faces?

IR # [Fafaa sem?




33|How many number of sides can selected for filled 5 sides 6 sides 7 sides N-number of sides [#RX §U Adg HATS & AT Fhcll TS A ST 5 |Iss LR IES] 7 €133 U 9138 §&A1
surface command? Thd 87
34|Which one is not supported by helix/spiral Pitch and revolution Height and Height and pitch No of turns ghoFe | RS HATS gaRT [had FAd ol | 99 3R Jaidee |3a1s AR Jarged| 3ag 3R g T H gEdr
command? revolution e STar 87
35(What is SWIFT stands for? Solid Works Soli Works Internal Solid Works In Solid Works In SWIFT & HAdeld T &7 SolidWorks SoliWorks Internal SolidWorks In SolidWorks In
Intelligent Feature | Focus Technology | design Feature design Focus Intelligent Feature | Focus Technology | design Feature design Focus
Technology Technology Technology Technology Technology Technology
36|As a default, twist in FLEX COMMAND is created w X Y Z T TSWhice & &9 H, FoIFd HaATs H A5 hd w X Y z
about which axis? 38T & SN H FATAT I=AT §?
37|Which fillet type creates semi circular fillet feature? | Constant radius Variable radius Face fillet Full round Fid AT ool YR 37T MR Thelolc T B W B % Tholelc qUl MR
gfaer s g2
38|How can select multiple edges as path in sweep  |Using Selection tool| Using Selection Using Selection Using Property |39 3R & 9T & & & F3 heIRT I TTeT IUHPIOT AT | T YaEIh Hl T ThaAR I 0] Y
operation? Manager edge Manager TIT $Y AT AT T &7 3UAET FHLAT 3T FHLAT YN AT 3UAET FHLAT
39|Which reference feature is used to find centre of Plane Axis Point Co-ordinate system [STSdlT & g @I Tielel & ToIU fhd HEH Fraen Eoict uiFaq fag FIfsic EeH
inertia, moment of inertia? T 3TAET AT F1ar 7
40[Which command dissolve a block? Explode Dissolve Break Un-break Pl T FATS THh solleh P HIT HIAT 87 aewic Dissolve Break Un-break




Name of the Trade - Additive Manufacturing Technician (3D Printing) - 1st Year - NSQF - Module - 3 - Manufaturing Technology

# Question Opt A Opt B OptC OptD Questions OptA OptB OptC OptD Ans | Level
1|Which is the part opposite to point of a file? Edge Face Tang Shoulder TF FET F %@ ¥ BT i ar e £ TS g =7 aitest Cc 1
2|Which of the following is not a specification of file? Size Thickness Cut of teeth Grade PR & @ FiF & wEa 1 A a8 HTFT AT afa & @reaT i B 1

g7
3[What is the angle of teeth of a single cut file? 45 degree 60 degree 75 degree 90 degree TheT e BISST & aidl 1 FIOT FAT §2 45 Tt 60 fafr 75 faafr 90 et B 1
4(In which manufacturing process, the molten metal Casting Forming Spinning Joining g AT gfdar F R Eg a1 F TF gAY TS ST FTS Shafayer A 1
is poured into a mould?
# STl 1T &7
5[Which is the distortion where the surfaces of the Slag inclusion Warpage Blow holes Swell Ig YT T qT ¥ et o gT REY T Tag w9 WQH arfs st g Bed B 1
moulded part do not follow the intended shape of
the design? f3oseT & 3ood AR HI UTeled g1 Il 872
6|Surface plates are available in how many grades? 1 2 3 4 WHT TT Fder A3 F 3y §2 1 2 3 4 C 1
7|Which material is used to make surface plate? Glass Stainless steel Wood Cast Iron Tdg e T ¥ U R gerd & 39T FaT Baag & aFE T AT D 1
foRaT STt 87
8[In which angle the two plane surfaces of an angle 45 degree 60 degree 90 degree 120 degree FIT WIT F & TAIT e F FE POT W 45 Ty 60 fafr 90 fafr 120 f2afr C 1
plate perfectly machined?
qff @E ¥ FFad Far Sar &2
9(Which of the following is adjustable type angle Plain solid angle Plain hollow angle | Slotted type angle | Swivel type angle fafET 7§ S gAEEST gFK & o7 HIET ST FIUT Soe| FIeT @rEal $IUT | Tolle FHR FIo7 W GHIT FI0T D 1
plate? plate plate plate plate
T 87 T T T
10|What is the included angle of VEE in a V- Block? 30 degree 45 degree 60 degree 90 degree V- et & VEE T GiERfad S F7 2 30 T2y 45 f2af 60 T=afY 90 =i D 1
11(Which is the materials used for making v-block? High quality steel Granite Wood Stainless steel  |4r.safer gamer & T 39T 37 S arar qary |3 T[oTaeaT aTelm s aFE Bog e A 1
el AT g2 e
12|Which machine is used for resharpening of Grinding machine Drilling machine Milling machine Cutting machine TSR Ej‘\'\fr o e & qeecTeT ¥ fav g BiffiT b T I AT F7efeT FfEa 7ol A 1
scribers, punches, chisels etc? TN
FMF &1 3T TRAT ST §2
13|Which of the following is not a safety measure Wear goggles Wear tight dress | Wear safety shoes |Clamp the job rigidly TERT WS gAY PERRT § F FT ar FI TN TR | erse 39 3R A gt ?1\(—_} ugel | F T gEd o C 1
while grinding? and roll shirt
sleeves up & 3T FET 82 ¢ Toled Ugel §¢
14{Which of the following is not an abrasive material of | Aluminium oxide Silicon carbide Sandstone Calcium carbonate T & @ Fi7 a1 v mERT B @ Mm AT FEEs T3 T SwmH e | P 1

a grinding wheel?

3TgYE gerd 6T &7




15

Resinoid bond used for centreless grinding is

_ ISeATss dies & dAeow AR & fow 3uzter A B S v
denoted by which letter?
frar arar § 98 e 38R garr Awia foar
ST 82
16|What is a measure of the holding power or degree Grade Bond structure Shape T G E F ey T @feer uraw a1 Ry = ICES =T HTFER
of strength of a grinding wheel?
& T T 39T 41 82
17|Which process is used to reconditioning a grinding Truing Dressing Forming spinning T FT 5K g6 F T R gfFkar & aasg-r 3T FIfFeT eafaster
wheel to make it cut better?
YT AETET FleT T GERT FeATad & forw fomar
ST g7
18|What is the recommended work speed to rough 5-15 m/min 10-20 m/min 35-55 m/min 65-85 m/min FoaT AT TEE I F AT Hﬁ?ﬁ?—r & 9y | 5-15 Hex / Aae|  10-20 Hex / 35-55 HeY / 65-85 HeT /
grind cast iron?
FT 82 AT AeTe AT
19|What is called the grooves provide on the entire Lips Flutes Margins Web wF AT BT F WR ‘Iﬂ SIS W g fFu fareg aig?r AT a9
length of the body of a twist drill? ’
SITeT arel @i &l AT gl ATdTl 87
20|A wedge like tool is used for removing the taper Drill chuck Drill key Drill socket Drill drift AT Fodza & A% ¥ 2w ofF o FT g Ber T Ber f¥er Tide Ra == ¥ v
shank tools from the nose of the machine spindle. -
What is this called? & fIT 3UEOT HT IRE Teh Tl HT YT
AT ST &1 5§ FAT gl SIam 872
21|What is the point angle of a twist drill? 60 degree 90 degree 118 degree 135 degree wF e R & ﬁ@ T FAT &7 60 Fafr 90 fafr 118 f2afr 135 f2afr
22|What is the suitable cutting fluid for drilling MS Soluble oil Water Compressed air Kerosene oil THTE o RBfFT ¥ v 3TgFT ST g Far gﬂ?r%ﬁ?—r T qir TART gar e F7 AT
plate? ) ’
g7
23|Which one of the following drilling machine is used Bench drilling Pillar drilling Radial drilling Ratchet drilling AR § O 9 O R 7 {2 ST BT Afe | T R meer | WRaw R o e Fefe
for drilling holes where electricity is not available? machine machine machine machine ) ) ) - 7
B¢ & foIv 3UANT Fr S § STeT oot 3ucsy ERIC
6T g7
24|Which is the cutting tool used to cut internal thread? Drill Reamer Tap Die 3afeE amY F FeS F DU g 39T F e R Eare Rl G
39T fRaT ST g2
25|Which tap is used for threading to the bottom of a First tap Taper tap Intermediate tap Bottoming tap  |ge 3 B F e 9T A AT & v Ry ugSr ¥ 3T g Aeuadt g St o0
blind hole?
ST &1 39T AT ST 82
26|For tapping with M5 tap, what drill size you use? 3mm 4 mm 5 mm 6 mm TH 5 U & WY AT & AU, 39 P B 3 Ay 4 B 5 fEaT 6 TaET
TR FT 3TN FIA 82
27|Which part is ground to re-sharpen taps? Flutes Threads Body Relief 2T R ¥ AT W F AT FT A1 REqr g2 W d=q S I




Name of the Trade - Additive Manufacturing Technician (3D Printing) - 1st Year - NSQF - Module - 4 - Metrology & Interchangeability

# Question Opt A Opt B Opt C Opt D Questions OptA OptB OptC OptD Ans | Level
1|What is called the science of measurement? Metrology Meteorology Pedology Mineralogy AT & AT FIT Fgarrar &2 Herersh 3iafer-fRee A -geely fear e e A 1
2|In a measurement, what is the term used to Value Precision Fidelity Threshold TF AT F, e a1 30 A S RFear Afese T g tﬁ%&ﬁt‘é Threshold B 1

specify the closeness of two or more ’ ’ )
measurements? o & v fFa esg &1 3uAhr fRar Sar g7
3|What is determined while measuring a Nominal size Actual size Specified size Scale size TS UF 1 AT F e F41 eiRa far srar TR TS IrEaRF HFR RAfEse IFER el WER B 1
component? ’
87
4{Which measuring tool is used to measure Slip gauge Telescopic gauge Micrometer Vernier caliper RN, 3aR® 3R TS AT F AN F T BFE BT AT rieRRE Ao FTSHIETT T Sy D 1
external, internal and depth measurements? '
HIY& 3YHIOT HT 39T fRdT ST 872
5|What is the least count of a Vernier caliper? 0.01 mm 0.02 mm 0.1 mm 0.2 mm R FRwR A ged e F5e T &2 0.01 &Y 0.02 A= 0.1 A& 0.2 AT B 1
6|Vernier caliper is made of which material? Cast Iron Mild steel Nickel-Chromium | High speed steel FERR S R 9T & o7 g &2 T olgT A ST Dea-RIATH Naafy & C 1
steel
el
7|The main scale reading is marked on which part Beam Fixed jaw Movable jaw Sliding unit ge YA 5 DT ot S ¥ g 99T ) 7 g sesr TeT ST TS TS A 1
of the vernier caliper? ’ )
A g2
8[Which instrument is used to measure the internal Outside Manometer Feeler gauge Vernier caliper T F HARE A F AT F AT R IIHOT 3M3eaTES AT e Ao FRERR FAuy D 1
diameter of a pipe? micrometer
T 39T THAT ST §? AP
9|What is the reading shown in this fig? 7.48 mm 7.98 mm 8.48 mm 8.98 mm =7 PR & R @ SR Rmr = &2 7.48 T 7.98 T 8.48 ff 8.08 T B 1
T
0 5 =
—o
A I -
IFTTTTTTT [—
— 45
=40
10{What is the least count of a micrometer? 0.01 mm 0.02 mm 0.1 mm 0.2 mm FAEFHECT A ReeFEe Far &2 0.01 0.02 A= 0.1 A& 0.2 AT A 1
11|What is the use of ratchet stop in micrometer? Prevent motion of | Maintain uniform |Provide measuring | Forms measuring AEHHACT & T TIT FT 3TIT F=4A L2 gga— #r 7y F@r A AT ar| A9 T TdE RT AT F w7 | B 1
spindle measuring surface tip
pressure Uk AT W Tl &Y
12|Which of the following is incorrect about Thimble and barrel | Total travel of the Graduated Screw has 10 or AEHHA F S} & PefafRd & & F47 g £ | P 3R R A9 g gfr #r | g wgs | 9w A iy 9 C 1
micrometer? should have a dull [ measuring spindle | surface diameter | 20 threads per cm
finish is called of barrel should be # tm W Fol ATAT H | HT TAg H <A | 10 AT 20 GEY §
measuring range 5mm
IAS gl gIT | AU Fr @ar |5 FeE g arige
gl ST ¢
13|How many divisions are graduated on thimble? 20 30 40 50 RFTel & el YN FT STET PTeT IT Tehell 20 30 40 50 D 1

872




14]In a metric micrometer , a complete revolution of 0.01 mm 0.25 mm 0.50 mm 1.00 mm T AR W #F Oraea & cﬂfr ng 0.01 3 0.25 .o 0.50 . 1.00 T
thimble advances? = '
T QT FAT gIT ?
15(Which part of a micrometer is made of alloy steel Frame Anvil Barrel Thimble T HSFIHECT FT PTG e B Tq gEaTd & Bior=y T ICH LG D=y
and finished to a perfectly flat surface?
T § 3R Q¥ atE @ gUT §dg W FATCT g =T
g7
16{Which is the main part of a micrometer which all Frame Anvil Spindle Barrel T ASFHT qET T Pl ar & S 3 oorey GICCH eRT R
other parts are attached to this?
Tt Al F 3T gIT @
17|The micrometer works on the principle of? Rack and pinion Gears Screw and nut Vernier A fras Rgid W 9 Far ¥ Y& 3T AT s ¥ 3R AT FRRR
18|What is the main purpose of Wringing of slip Increase length Reduce length Remove air-gap | Align mating slips BT AT & Rfer &1 qeT 39T FAT & garer oot & |daer ot & & | @ feafaat gairer offat @
gauges? between mating between mating between mating
slips slips slips arg i FeTS i | Fr dEs A HY | F &g gar-dig WET FT
IGEICH
19|Which of the following instrument is used to outside Micrometer| Bevel protractor Vernier caliper | Depth micrometer (g 3 & g 3YFOT &7 IANT ST F FT FY 3M3eaTES e TR IET STy 3cer FTEHIHER
measure angle of taper?
AT & fov A Srar 82 ASHIATET
20|What is the least count of vernier bevel 1 5' 10 25 IERR 399 Me A e F3e F=4T &2 1" 5 10' 25"
protractor? -
21]A sine bar is available in standard sizes. Which 100 mm 200 mm 250 mm 300 mm T TS aR FAFF MHERT & 3Ty & 100 = 200 &Y 250 AT 300 AT
one of the following is not a standard size?
fAFATf@d § & Hld AT TF AAF PR 781 67
22|Which of the following is used to checking Try square Vernier height Slip gauge Bevel gauge s § ¥ frger 3ur @ag & guedr iR T TFRR afhR gée A= TNT AT g AT
flatness and squareness of a surface? gauge h
YT HT ST Fe & faw frar srar g2
23|Try square is used to check u an angle of? 30 degree 45 degree 60 degree 90 degree T P aF T ST WS F AT T I F 30 f2aft 45 fafy 60 T2af 90 =i
ST fRAT ST &2
24|Which one of the following instrument is used to Vernier caliper |outside micrometer| Dial test indicator | Bevel protractor e ST T Figar Hr ST FT F AT FERR FAay 3M3eaTES e ke R daT deeT
check the concentricity of the outside diameter? -
RAeTAd & ¥ P AT 3M3cTET ATSHIACT ASHIATCT
39T AT ST &7
25|Which of the following is used to check external Plug gauge Ring gauge Slip gauge Standard screw |omge & T I Y ST T F v T Ao ¥ e T AT HAF T Ry AT
diameter of shaft? pitch gauge
efaf@a 7 & frasr 39t fFar arar g2
26|Which type of gauge is GO and NO GO? Plug gauge Slip gauge Ring gauge Limit gauge P YHR 1 AT GO 3 NO GO &2 o T AT &9 e ¥ e &fte I
27|The circle passing through the upper tips of the Pitch circle Circular pitch Dedendum circle | Addendum circle aiat #r Il :gf?a?ﬁ a ?IGR?T e TS Y FAT T TFT MR A HAYOT A qiiferse T
teeth is called?
FET AT 87
28|What is called he ratio of pitch diameter to the Module Addendum Dedendum Circular pitch aiat #r e 3R R sarm @ v 39T T T AqiE qiyfarse A M A=
number of teeth?
T 872
29|What do we call the gear connected to the input Driven Gear Bigger Gear Smaller Gear Driving Gear sAYge U aa & g‘s‘ R &1 AT & &9 7 41 IRT AT =7 R o R s AR

power source, such as a motor?

Fed &7




30|Which are the gears in between the driving gear Driving Gear Driven Gears Idler Gears Chained gears |y FfiT AR 3R gorfea R & 9 e § i R g Froy TR ey Fe7T IS
and the driven gear that only transmit power?
S Fhaer AfFd FARA Hd g2
31|What happens to speed when you increase Speed Increases | Speed decreases | Speed stays the | Speed becomes I AT BN & ST 3T A o &2 AT T TR Y | FHE oS | oY I wH Y |l NGe] 2 ST
torque? same Zero o ' ’
J J
32|Which of the following option is incorrect about Increase output Increase cost of Useful in mass Assembly time AATar F s d ReR@g T @ S ar IcuTesT gard 3cUTesT &7 ST T T ©w e Fr gHT
interchangeability? production production increases ’ ’
fehoq aTeld &2 g 3cUleeT & 3UAEN | §¢ ST §

33

When tolerance is given one side of the basic
dimension is called?

Tolerance system

Allowance system

Unilateral system

Bilateral system

S TOReH T F{ HATH H Teh 6T GT7 S §,
ar 38 &gl ST g7

Tolerance system

Allowance system

Unilateral system

Bilateral system

What is the tolerance in mm?
= g A & afesopar ar &2
35|What is the difference between the maximum Clearance Allowance Tolerance Limit U UeF F AT F AR WX SgAH 3ER ey TS ageTeirerar AT
and minimum sizes allowed in manufacturing a
component? & &g A FT g2
36|A shaft is fitted in a hole. The tolerance zone of Interference fit Clearance fit Transition fit Gap fit TH ¢ F TH TP oPIRT SaT ¥ R Interference fit clearance fit transition fit gap fit

the pin is entirely above that hole. What is the fit
obtained?

afgsorar &1 Qi e ¥ 39 8¢ ¥ I ¢l fve
T gem g?




Name of the Trade - Additive Manufacturing Technician (3D Printing) - 1st Year - NSQF - Module - 5 - Additive Manufacturing

# Question Opt A Opt B Opt C Opt D Questions OptA OptB OptC OptD Ans | Level
1{Which of the following is a layer based Milling 3d printing Turning Drilling HfoTad &§ & Pl O Toh WRd MR Ao 33 e Thetar faforer B 1
manufacturing process? fafaator ufsear &2
2|Which is the process of creating a solid Sintering DMLS EBM SLA 38 gd1d fohT T9ar I3 T 3TN Xk Teh e DMLs EBM SLA A 1
mass using heat without liquefying it? B GTATA Follet Fr gfchar a7 §2
3|Which of the following is not an advantage No expensive Minimal waste Flexibility in design | Large sized models |[@e=Taf@d & & #la1 @1 Additive fafaiafior &1 | 5 &g goltar gIdH 3rafrse TSotseT | §3 &R & AGAT | D 1
of Additive manufacturing? tooling requirements can produce M AET §? AT HAT AT ERIGIEGH F 3UCA F
HHhd ¢
4|Which manufacturing process is using a Knurling Grinding 3d printing Forming Fid AT AT gk [fAATOT & o wh GIGE BIEEDl 33 Wfear I C 1
CAD software for manufacturing? AT FTFEATT T 3TAT HT T 82
5|Carving, drilling, milling and chiseling are all Additive Subtractive Cutting Forming aferehref, f3forer, fAfer 3R araferer @ell fhad | Arcae AfAATT | Fechera =aor FHicaT I B 1
examples of what? manufacturing manufacturing 3ETEI0T &7
6|Which one is NOT related to 3d printing? Layer by layer Physical model From 3D CAD data Production line  [&lsT &1 3 31 T & T =Tal g7 Rd &I R Aifaew Ao 33 divg sar @ TG olTSeT D 1
7|Which one of the process is NOT using LOM SLA SLS FDM gihdT A F Pild IT ook T 3YTT oIg] P LOM SLA SLS FDM D 1
laser? TET 87
8|What is the full name of SLS? Selective Laser Sintering Laser Selective Laser Stereo lithography [SLS @T qU1 #TH &7 & . TTATCHSD oo THERIT ook TIATHEF Ao TR erTIThr C 1
Simulator Simulator Sintering Laser Sintering fFgerex AFgerex R ook Riefie
9|What are the other name of Multi Jet FDM Poly Jet 3D Printer Extrusion Al Jic ASIAIT & 3T ATH &1 872 FDM qlell Ae o 3 Puex e [Aprerar B 1
Modelling?
10|What is the format for 3d printing machine prt srt stl iges 3D Printng AT HIEA & T IIFT 4T g2 prt srt stl iges C 1
file?
11{Which CAD software can not be used to Catia Solidworks Adobe illustrator Creo Arerersfoer #efieT & AT seT aa & fav By Catia 3T A T3l§ Solfeel 3T C 1
create data for prototyping machine? CAD ITFedTR T 39T 181 fhaT ST Hehal §7
12|Which one of the process is subtractive 5 axis CNC Milling | Fused Deposition | Multi Jet Modelling | Stereo lithography [9fshaT & & @l 61 Hagahicd HghadNdl 5?2 5 3787 T T3 SUARE | #Hedl Slc Alsfelar | FRAerdIamd A 1
manufacturing? Modelling Apparatus IEIGE Arsfoier 3YRIOT
13|Which of the process, the input material are SLA SLS FDM MJIM @l A GTohdT, 3TYc TTHIA 3 & H g7 SLA SLS FDM MJIM C 1
in solid form?
14|Which of the process, the input material are LOM SLS FDM MIM FieT AT F1hdT, 39T TGS il §9 H 67 LOM SLS FDM MIM D 1
in liquid form?
15|Which material is NOT available for LOM Paper Plastic Metal Glass LOM Ufeham & fow sia O uerdl 3ueisyr =181 FraTaT TS BIEH T D 1
process? 2
16|Which of the process is using extrusion SLA SLS FDM MJIM HleT AT ik TFAZ Sl GYROT &l 39197 SLA SLS FDM MJIM C 1
concept? FT W §?
17|Which of the following is NOT the colour Cyan Black Magenta Yellow &= & & PIT AT 3D X FI T S8 Al Epic Flell Hotel e B 1

binder of 3D Printer?

g2




18|Which of the following is the process of pre- | Remove support | Checking 3D CAD |De-powdering loose | Dipin binderto [[eFafali@d H & ®led Jd-THEHIOT TROT I HAIE g1 fAerel | 3D CAD 3e1 &t -3 alell 89T 1 FHsTd

processing stage? data material strengthen the part |9fshaT 7 ST AT AT el & forw e
&1 #MT A g

19|What does 3D mean? Movies Stereoscopic Computer graphics 3dimensions |33 & FdAT T g7 BEIGE] TE3MERT FYI Ay 3 3MaA

20|What makes 3d printing superior to other Efficiency Speed Customization Quality g A= 3 3 [T 37 AfaaT aeseat g afa 3 gor Tl
manufacturing techniques? ¥ dgR 8?2

21|what is the word used for the material we Filament Plastic Steel Glass 3D 3ffesiere. ailed F T g7 59 e & e AT Ech FEaTd FIT
use to make 3D objects? 3UAET X g, 399 [T 31 Use; §?

22(What do we call the space in our 3D design Graph Bottom Paper Work plane §H 39a 3D f3iigal Warmed & 3§ T HT F:41 DIEd GGl Tl F AT
program where we design our object? FEd & o6l &H 9T a&g f3arse & §?

23(What are the 3 axis in 3D printing? a,b,c X, Y, Z a, b,z X, Y, a 331 [T & 3 3187 &1 §° a,b,c X, Y, Z a, b,z X, Y, a

24|Which is NOT something that you can print Tools Toys Water Body parts UH $S gl ¢ T4 39 3D X & e & 3907 TeRiG) qrei R & 39T
with a 3D printer? Thd 87

25|What is the direction of layers in a FDM type | From bottom to top | From left to right Right to left Top to bottom  [Tsh UHIITH YR 3 37 e & Wl $T [ A & 3W da dT ¥ v gIv ¥ «1v W T A
3d printer? FIT §?

26|Which part of the printer is where the melted The Print Head The Filament Roll The Print Plate The Nozzle eX &1 @l &1 feedm &, Stel fAeer gan wr Uc g5 e Ul g e wie Arstel
filament is extruded onto and your object SR folehrell ST § 3R 3M9ehT avg 3R
takes shape? o 87

27|What does PLA stand for? Polylactic Acid Potentially Loud  [Polyester Liquid Acid| Polylactic Augment [ffTeTT T Ades &2 Tell oifefeeh 3T | TICTRAITel @138 qiforeex fafdas | dreliufes 3i0mETe

Arguments wifieie s

28|What determines the colour of the objects Filament Colour | What ink you put in The 3D Printer Spool Holder  [gAR ¢aRT Hfed a&g30 &1 T FAT LR fthemde &1 W1 | 39 fohe &er & 33 X T glest
we print? FAT 872 HECE

29|What are the steps for making a 3D Printed |Design - Idea - Print-| Idea - Design - Idea - Think - Make -| Idea - think -Print - |3 31 RS 3iTealde Sl & o0 FIAT FeH &7 Design - Idea - Idea - Design - |ldea - Think - Make | Idea - think -Print -
Object? Export Export - Print Food Export Print - Export Export - Print - Food Export

30|Which is the part of the printer that pushes Print bed Display unit Carriage Extruder e FT ag T AT AWT § N ThellAC Al A e 93 e SHIS R TFAE
the filament down? eheldT 87

31[STL file converts curved surfaces into which Polygons Lines Surfaces Cubes STL %gel FHTAER gl I fhd 3R A g HS qfeear Whad Fg=d
shape? gRafda T 82

32|Which of the following can not be the input Physical mockup 2D surface data Tooling 3D CAD data [Tl # & lel CAD I HISel RISl AT 2 3 |dg 3aI ot 3 3 #iwsy e
of CAD solid model? ST AT B Wehll 872

33|Which of the following advantage does not It consumes less | Gives better quality | Reduces product It's cheaper AeATTEd & & @il @7 ofle IRIRP 3HF a ¥ GAI |dga] AUacdl &l | 3c9IG dled TAT Ig TEAT §
possess by the 3d printing process over the time launch time SIerergy fshar 9X 3 3 e ufshar & ara FHA 9T & g FI FH FLAT &
traditional prototyping process? 8T &7

34|which material posses the maximum ABS PLA Nylon INF g uery 7 A™hdA AP gl 82 Ty droaT AT 3SUATH
strength?

35(/Which of the following is used as base Thermoplastics Photopolymer Metal powder Titanium alloys  |&AfFEmEr (SLA) wihar & 3MUR a1y & AHTCATIECH HIETITelHT Fed U3 Tl &

material in Stereo lithography (SLA)
process?

& # Aefaf@a 8 @ frger e ar
ST 87




36(Which file format cannot be converted into prt sld dwg stp FieT o1 RREEEIE) FI STL BIEd T H prt sld dwg stp
STL file format? aftafda a&t fFar S dhar &2
37|Which polymer that changes to a liquid upon Polypropylene Copolyamid Thermoplastic thermocole lel | Sg ol S I & 3Tdesl T Th kel qrell graTsforet H gl S YA CH UHRT
the application of heat and solidifies to a H Seoldr ¢ 3R 337 g W T 3 dsh oI
solid when cooled? ST 87
38|Which one is the design process? Build Concept Pre-processing | Transfer to machine |38 Ufshar @leT AT g2 foes Hehodall ar-arafder AMA H TATATAIOT
39(In the entire reverse engineering process for | CAD model updating| ~ CAD modelling | Data pre-processing |  Data capturing  [3cdTe fSeiisel & faw qft Raw sehfaaRer A0S Al Hear ArsfereT 3reT W-AIATGe 3T AR
product design, which one is the first step? 9fshaT ), Ugell Shea Hid T g2 K CORE]
40|How many processes in the design process? 3 4 5 6 f3omea ufshar & fohder gfshamw &2 3 4 5 6
41|Where is support structure required in a Overhanging Thin portions Thick portions Hollow portions  |Teh WIETETed H FHUA Tl I ITaRTehdT ARG T AT TcTel HTIT A HAT argel HTET
prototype? portions Fel §?
42|What is a prototype? A model of a product|The final design ofa | The idea for a CAD model T WSy 7 g7 T 3G H Uk | Rl 3G F1 | T 391G & T dredr AlsaT
product product Az 3ifas f3emser R
43|What is the full form of SSM? Slicing State Solid State Solid Slicing Slicing Solid SSM & qUl §9 FT §? TelgiiaT T 3 e AT Fifos Forger ARG Fitas
Manufacturing Manufacturing Manufacturing Manufacturing ﬁ—gr theaRer ﬁ—gr theaRer T faeT
44|Which process converts STL file into layers? Chopping Slicing Cutting Trimming Pl AT YThAT THSIUS BISd hl Rl H TITee] TSN FHicaT feTaar
afkafda &t &2
45(Slicing a part is easier in which method? B-rep method STL method CSG method PRT method g R F v s F Az 31T 82 137 fafer THATA AT oge AYs PRT faf&r
46|What is duplication of another creator’s Reverse hacking Cracking Social engineering |Reverse engineering [f& 31 AT & 3cdig & algdd § 38+ gfher Raw shichdl TS SoAIRAT | R Soni=rgRear
product trailing a thorough examination of its 3curesT T [ & g ST gt 87
production or development?
47|Which of the following is not correct about  |It is used to hold the | It is used to position It assures high Itis used to guide |FFFTTII & & Hled W g & TR | SOHT 3YINT H1F | SHT 39AET S | Ig AP AT 3T FHHT 39T
fixture? work the work the work | accuracy of parts the cutting tool  |TET 7TET &2 F b & fow | F Rufa e & TRl FICA o 3YRIIT
frar Sar § fou foFar ST & | 3meards Sar € | A AERT we
F fow forar Srar &
48[In which of the following operation jigs are Drilling Turning Milling Grinding Tfoar@ad § ¥ g AT & hFaT ) 3T cfetar AT DISiED
preferred over fixture? 9 = wrafAear & srdr 82
49|Which of the following holds the workpiece Locating device Clamping device Guiding device Indexing device  [[A&ATITET A & lef HicaT Foll & e Ahicar f3asa | FolTiedel Zasd ST Basa HIHATT ITHITT
securely in a jig or fixture against the cutting TR H T Torer A1 AT # gIfara w@ar
forces? 2
50{Which of the following type of jig is used for Template jig Plate type jig Open type jig Box type jig fAfof@d # | 8 9hR #1 o091 T | T ST Tolc YR 1T NI esy 5o | sfew geR &5er
machining in more than one plane? 318 adg 7 #Rffeer & oo 3uaier foRar
ST 82
51(Which of the following type of jig is used to Index jig Plate type jig Open type jig Pot type jig fArai@d & ¥ fhg YR & o1 1 3u3mT g3y forer Tole ghR ST 3T 18T ST qic T8y forer
drill a series of equidistant hole along a U Jod & AT GHAA B¢ dlell Jell Al T3l
circle? F & o far Srar g2
52|Which of the following jig can be used for Template jig Multi-station jig Index jig Universal jig F=@a & & P9 I 56T $5 37e91-37097 TFIele Torer HAccl TR ToraT 39 ToraT P GERCRED

several different work pieces and operations?

g& g 3R IR & v seaAe Far s
HhdT 87




53|Which is the device, in which a component ig fixture Bench vice C clamp g il HT YOI ¢, TSI H Teh HTh I Teh- ST [EEREN EEIEIE o Folg
is held and located for a specific operation faferse et & forw @r siar § 3R anfeat
and bushes are integrated that guide the A Tehlgpd fohaT STAT § ST 3T0T &l
tool? AT FAT g2
54|What is electric current? Flow of electrons Opposition to Storage of charge lonization of atom Tﬁa}’g?—l YRT FT g7 SolFClell ol UdTg | Soldclell ol TaRTel ATl P TTRS OQIATY] <hl
electrons 3TIATROT
55|Which of the following is best conductor of Aluminium Silver Gold Steel AT & & i [Solell &I TaH 3ol HegHITTA BIcy ez FEqTd
electricity? gTelsh §7?
56|Which instrument is used to detect electric Induction meter Watt meter Galvanometer Voltmeter ﬁ'{{[?—l UdTg T Il oHla & o0 g 39T 9ROT HieX are Hiex ATt lecHe
current? T 39417 R ST 87
57|For what purpose voltmeter used for? Measuring current [Measuring resistance| Measuring power | Measuring potential |[fhd 3228 & o7 dlecaieX &I 39T fohar FC A & T | YTy AU & | 9fa} A9 & (o0 | AT 3R BT
difference ST &7 fow ATIT
58|What is known as the smallest change a Accuracy Precision Resolution Scale Teh U & Tgalelal drel Tad Bl IRAcT & Y& Y& g el Thel
sensor can detect? T H FIAT AT SATAT §?
59|Which of the following is the ability of a Resolution Stability Error Impedance et # A HlaT & T TRk goTqe & folw TG 2 2R ey FFUsSH
sensor to indicate the same output over a FHY FY 3ET A T @ I13eYeT s
period of time for a constant input? FeT AT T T &FA AT g7
60|Which of the following type of sensors are Hall Effect sensor Proximity sensor Light sensor Optical sensors  |[F=ATATET & & v TR & AW & 3TTET | §iod ghae T oA TR dBC AT JTCehd TR
used to generate information in object e 3R 91T HAROT # SERRT 3o
grasping and obstacle avoidance? F fov forar Srar g2
61|Which of the following is rewirable fuse? Kit-kat fuse Cartridge fuse D-type fuse Link type fuse  |efaf@d & & &l &1 ot 39T A fhe-she FgS FERST T AT TGS ol R wgSt
TS g2
62|Which fundamental law states that, 'like First law Second law Third law Fourth law FiT T Alfos I & Fer 1 § F 9 ugell e g s I e e =Jae

charges repel each other. Unlike charges
attract each other'?




